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Business Statistics
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Note : Answer All Questions. All euestions carry equal marks.
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Define statistics and discuss types of data.
slerqr (or)
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Find arithmetic mean from the following frequency distribution
Frrq uft gffiq
Profit per shop 0-10 10-20 20-30 30-40 40-50 50-60
gordf tn1 dcqr
No. of shops 12 18 27 20
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Find out Quartile & median from the following series.
to-+ (wayes) qfuf +1 Swy lNe q20-30 G9

30-40 L674o_so 2ols0_60 55
60-70 50
70-80 10
80_90 10
90-100 08
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The following is the distribution of 100 members of parliament. Find the
deviation and its coefficient.
ong ed q (age in years) 30-40 40-50 50-00 60_70
rrr$q} qfi r{sn (No. of members) 03 5J. 25 05 09 07
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Calculate Karl Pearson's coefficient of correlation for the following data.
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Define regression and explain its importance.
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3ITETR q{ (Base Years) qRl E { (Crrrent Years)
qE ftTqn qfr Eo-rg Ed q{r qftffi qfr {frr{ 9S aFI

Items Price per Unit Tota I Exp Price per Unit Total Exp
1 Q2 40 0s 75
2 04 L6 08 40
3 01 10 02 24
4 0s 25 10 50

Construct the following data of fisher's index number
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What is index number? State its utility.
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Discuss the various methods of business forecasting.

d cmit qi s-6'ER ffi w 07 zrr 11 q).r 311-i * ffi,ll} *,
What is the Probability of getting a total of either 07 or tL in a single throw
dice?.
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